2J\
NT-NLT =»

3038 H R 8 (NLTRFHTR)

#i
{ﬁ'ﬁ.

S RFATN AR

6000

W 5MEE
W . EETEE1S5 Q
u - SR
‘)-—\
77777 = ﬁ‘ -
k=
QQJ 5 =
S P EEQ ol >
~ ‘o
N - % A
z [ p—— i - MR TR S AR TERT.
L 180
T/ 9 s by 5
160
& 140 NTI5
</ Lk NTO04,NTO5
B
v w B 1.5 120
_ 100
A
@ 80
-4]
NLTI2
60 4
MTIO |
— T
; A
/ NLTOB
NTOS
20 # 104 -
vl /
K - i 0 1000 2000 3000 4000 5000
e 8 NLT06~NLT12, NT15 [EEE © min
W SMERST

F N 0 0 P P g 7
=/h BKX BN B

NTO4 |110| 52| 60| 6 |80 | 4-M8 | 12 | 14 |233|201 |1025|875| 18| 3 |23 |10 | 25| MO | 3 |26 |27 | 56| - |-
NTO5 |135| 55| 80| 7 [100 | 4M8 | 14 | 19 |304|272 (115 |7 | 9|-6 |23 |10 |35 | M2 | 3 |28 |29 | 62| - |-
NLTOG | 165| 74 |140| 5 |1048| 6-M10| 14 | 20 |405(34 |1375] 925 |1015| 8156| 31 |12 | 36 | M16 | 4 | 34 | 35 | 72 [M6x10]116
NLTO8 [210| 85|170| 5 |1334] 6M12| 20 | 25 |481 |40 |21 |12 [131 |106 | 35 |14 | 36 | M20 | 5 | 38 | 42 | 9 |M6x12|150
NLT10 | 254 | 89 |220| 5 |1714] 6M16| 18 | 30 | 544 |4535(295 | 115 |16] 133 | 40 |16 | 36 | M20 | 5 | 45 | 46 | 110 |M8x15]190
NLT12 304106 |220| 6 |1714] 6M16 | 18 | 30 | 657 |66 |4275]1275|163 |13 | 50 |18 | 36 | M20 | & | 50 | 54 | 129 [M8x15|190
NT15 |381|114|300| 6 |23 | 6-M20 | 30 | 43 | 775|695 |4875]2325 104 | 69 | 50 |255| 55 | M30 | 2 | 55 | 61 | 135 |M10x20]260
W AR xm*rsrmumw%& BRI BELE.,

wE REGHon FEEE EEME SO GBS st L ENL RomE 8K )

= 24 2/ mm kN (kef) kN (kef) mln'(rpm e kg-m? MPa (kgf/cm?)

NTO4 110 5 6.4 15 5.3 (540)| 156.2 (1550) 6000 38 0.007 YO715R | 168 (17.1) | SBO4AIT
NTO5 135 16 6.4 1% 53 (540)| 168 (1713) 5500 58 0.013 Y0715R | 1.68 (17.1) | SBOSAIT
NLTOB | 165 22 13 20 140(1428)| 260 (2651) 4300 125 0.043 Y1020R | 206 (21.0) | SBOBATT
NLTO8 [ 210 24 16.2 25 20.0(2039) | 400 (4079) 3600 24.0 0.133 Y1225R | 2. 03 (20.7) | SBOBAIT
NLT10 | 254 27 18.1 28 27.0(2753)| 540 (5506) 3100 355 0.293 Y 1530R 3(197) | SB10ATT
NLT12 | 304 33 194 30 36.0(3671)| 740 (7546) 2500 60.5 0.708 Y 1530R 2 50 (25.5) | SBI2A1T
NT15 | 381 72 16 35 54.7(5578) | 166.0(16927) 3040 930 1.790 Y2035R | 210 (214) | SBIGNIT






